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Write a paragraph summarising the end of the novel

Kidnap Agnes Mr Brownlow Crime

Inheritance Mrs Leeford Monks Oliver

Mr Leeford Adopts Will Separated

Include:

● What Monks reveals about Mr and Mrs Leeford and Agnes
● Why Oliver receives his inheritance
● Mr Brownlow’s actions at the end of the novel



Write a paragraph summarising the end of the novel

Monks reveals that his parents were called Mr and Mrs Leeford…

Mr Leeford wrote a will…

Monks therefore Monks therefore tried to arrange for Oliver to be kidnapped…

At the end of the novel, Mr Brownlow...

Kidnap Agnes Mr Brownlow Crime

Inheritance Mrs Leeford Monks Oliver

Mr Leeford Adopts Will Separated



Complete the paragraph

Mr Leeford married Mrs Leeford and had a son called Edward, otherwise known as 
__________. Mr Leeford separated from his wife and fell in love with ____________. They had 
a son called ________. Mr Leeford wanted to leave his _________ for Oliver. Mr Leeford’s will 
said that Oliver would only receive his inheritance if he did not commit any crimes, 
otherwise it would be given to Monks. Monks therefore tried to arrange for Oliver to be 
_________ and turned  into a criminal. 

 Thankfully, Oliver has lived a moral life throughout this story and receives his inheritance. 
At the end of the novel, he is adopted by _________ and lives happily ever after. 

Kidnapped Agnes Mr Brownlow

Inheritance Oliver Monks



Extension Task

‘What is the central message of Oliver 
Twist?

Write a paragraph/essay on the question 
above.


